
���������
	��
�������������������
�
����������	������! #"$��	%����"&�(')"*�,+,"$���-�/.

021�3�3!46587�98:�;=<?>A@B>83!C�9�D=<?>83�@ED�FG5�F*1&H�<

I 1KJML�9�;=NODPF�QR<?NO>8QRNE:TSPNUL8@BD=;�JMNO>�;
V�>�<?W*NODX:�<Y;�Z[1B\,]
<^:�Q_1K>8:�<Y>�`a4b@&3$<^:�1&>

.Oc�.Od ]e58Sf@OZ�;�1K>gF*;=D�NONO;
4b@&3$<^:�1&>ih�]kj lKmon dKp

q @E98:�;=<?>2r8:%1&H�<as&tfQU:_5vuw<^:�Q&5xNE3$9

yMz|{_}E~E���&}
�A���O�%���?�x�����?�x�������U���x���?�x�,���G�_���=�����������������R�?�x���f�x�|�����������?�����

���,���_���������R�R�����|���������x���a�����_���,�R���?�x�����_�������a�����¡ ¢�x���P���R�����R�?£
�������|�������R�¤�x�[�%���¥���x���������R���w�������R�O�%�_���x�_�f���R�T�U���?�¦�����§���R���T�%�
�R���x�R�������������=���2¨��©�a�����x�%�x�?�x�_�,ªO�R�¥£Y�������x�w�O�%�����«�x�¥�«�����T¬EªO�����?£Y�����R���
�������?�x�a�­�%�K�_���=�������b�a�������R�?�x���E¬E���_���w�%�����O�a�����?�x���T�®�������_�a�_�¥�x�a��¬
�������_�=������¯,�¥�x������°*���U�������a�����?�x±¥�x�R�P���R�����R�%���2�O�%���_�������²�_���U����£
�R���_���x����¨O�a�?³����a�w���O�����%�?�x���R���x�8�����������?�����¦�
´8���x���O�%�O���µ�_�������a�����T�w�������R���R���x���=���¦�=�����=�_�������R���?�x�R�����R�

�R���O�%�¡�x�¡�a�������R�?�x���T�=�����R�T���U���8���O�%�����������?�x±a���8���_�����������R�?�x���w�%�
���w�=�����x�U�������R���������%��¶Y�%�����R���«�x�����?�x���¢�R�����=�����6³8�?�x�������T�x���%�
�x���O�a�����?�x�������%�_�=�O�%�������R�¥���%�2·¸���i¹&º2»&´�»��2¼�½*�¦�����¾�¡�����?�����
�������a�_�?�x�=�����������²���U���_���_���=�����%�T��¿?�E���_�a�¡�R�����*���R���������R���_�%�x���=�
���,�����_�R�T�U�������«�x�¥�«�������x�w���R��ÀRÁ$Â�·Ã¨O�a�_���_�§����Ä����| P�|�����|���O�%�
���R�T�U�������«�x���«�Å���Æ�����¢¨O�w¨R�_�����Y�¤�x�[�O�%���_���f¶¦�U���?�x���_�,�%���x�����,�%�
�U�������«�x���«�x�¥�g�®���«�x�%³����w¨��,�O���?�x���R�2���K�«�x���?�x���U�������«�x���«�x���,½¥¬*¨R�_�8���R�
���������%�����U�������«�x�¥�«�x�����x�2�����x�������x���E¬&���%�_�%�x�_�T�®�����ÈÇ%É����µÊ�É�¬ É�Ë=Ê
���U�������?�x�=�_���U���2�����¥�x���µÂ*���O�=�?�x�_�������x�|�U�������«�x���«�Å���
���������x�����|���¥£
�U���¡�x�R�����Ì¨O�����µ�������x�����a�����%�_�,���a��������¬R���R���R���µ�����O�%�¡�x�R�©���a��£
�x���������µ���x�=�_�w�a���O�������,�|�_�����%�2�����x�,�O�%�����«�x�¥�«�x���T�Í ������x���f���a�
���U�����Y���x�?�x�P�������=�©³��x�R�_�%³8�2���G�_���U���¡�x�,�x�_�������R���?�x�=�_�,³��=���x�f¨U�
���������x�����T���2�a���O�����2�����x���U�������«�x���«�x���g�¦�����A���������R�����?�����&�x�R�������_�¥£
�?�x���w�����������T�
Î ÏUÐ }Ñ~BÒ2Ó|Ô|�&}EÕ¥Ò Ð
´8³��T�����x�R���|�����R�������«�x�[��ÖE�����2���R�µ���R���%�_�a�©�%�8���=���_�R���������������«£
���������R������×���¨O�������a���R�_�R�����������R���x�_�����²�_���=�����%�6���������R�?�x���E¬Ì���R�
�R��³b����¨U���������¡�x�����x�����a�������?�x���Í�������_�R���x�=���x�����Ø¿?�¡�x�,���R�����¥�¦�=���
���a���T�x���O�������%���2���T�R�_�R���������%�_�f���R�|�_���U���¡�x�a�����²�_���=�����%�6����£
�����R�?�x���w³8�R���T�a���R�?�x�_���?�x�R�T���R���R���?�x�=�w���&�®�_���R���¥£Y�����R�����%�?�x�������?£
�����x�����a���_�������
´*���O�%����¬����=���*�_�������a�����������U�����8�¥�x���R�����������a�_�����|�x�_�������R���?�x���R�

�������R�����?�����«�x��¬8�=���O���=�T�%�����?���%�_�U���¸���_�,�����a���_�?�x�=�¸���i�©�¦��³)�x��£
�������R���?�x���R���¦���������������R�����?�����*�x�_�������R���?�x�����������%���È¶¦���������x�O���«�x��£
�x�R��½¥�k¹_�=�P���R���M�_�����a������������¬����_�¢���¥�x���=�%���f�¥�U�����%�������?�x���?�x���¢�%�
�R���O�%�¡�x�,�_���=�������È�����a���_�?�x�=�P�x�R�¥�x�_�R���¢���U�������?�x�=�¤�®�������_�a�_�¥�x�a��¬
Ù

¨R�����R�¥���_�������x���?�x�=�w���a���_���%�¥�x����¬R���������R�¥�x�����%�E�����������|���O�����%�?�x���R�
�x�f�������_�¥£Y¨U���������������=���w��������������¬��%�����R�����|�����R��������´8�R�����=��£
�?�x�����x�_���������_�|�x�©�R�������������=���%���¥���x���������R�����x������¨O���=�������_�8�O�a�?�¦���?£
�,�%�_�a�Ú¶¦�%�Ì�­�?�x�R���x�2�R����������������½�¨��¡�%���a�?�����R���x�R�,���_�8�������a�_�?�x�=�©�%�
���=���|���R�w�������|���U�������?�x�=�_��¬K�_�?�x�R��ªO�R�¥£Y�������x�P�U�������«�x�¥�²�_�������a���?£
�x�R�w�����R�¥�x�����R�¥�¢�%�2Û2ÜE¿? Ã¬K���R�O�������%��������¬��R�����=�_���x���E¬������������«�x��¬
�=�¡�U������ÝO�%³g¶Å�x�[�T���=�����x�����,�����T���������?�x�������f�Y�%�����x�=�O½¥�w´*�����x�
���R�T�R���?�x���¸�%�2���R�¥�[�_�����a������������¬8�?�x�����x�wªO�����?£Y�����R���,�������?�x�a�©�%�
���R�P�R���U���¡�x�f�a�������R�?�x���E¬2���_���Þ���,���O�a�����?�x���Í�¦�������R���_���x�������R�
�=�O�������?�x�=�f���������R�¥�x����¬²�����,�R���2����¯,�¥�x������¨��w���_�������¥�x�������µ ��U���
�x�8�R�����R�����x���2���R�������R���µ�_�R�R�����������R���x�R�T�%�*�R�%³¸���_�����O�����%�?�x���R�
�%�8���R���������%�g�x���������%����¬�ß�àÅá%àv¬O³8�U���­�x�����_���O�%���_���|���²�_�a�O���R�_����£
�¥�x�a�$¨O�a�?³����a�¡�=�O�������?�x�=�_���x�¡���R�8�_���U���¡�x�8�����a���_�?�x�=�,�������R�E¬��_�%³
���R�����8�%���$�x���U���������,¨��2���R���R���������������������R�¥�¦¬U���R�¡�R�%³¢���_���2�x�¡£
�U�����8�O�a�?�¦�����,�%�_�a���
´8�R�$�R���U���¡�x�8�������a�_�?�x�=�©�%�E�8�_���=�����%�M�%���|¨O��¨U�����*�_�a�����?�x¨O���

�%���w�����%�_�E¬�³­�R�����µ���_�,�R���_���,�%�����R�,�����%�_�¢�����R�������������=�O������£
�?�x�=�_�|¶¦�����x�_�������R���?�x�=�_��½¥¬Ì���R�w���_�2�a�_�=���­�x�w���R�2�����%�_�w�����R�����������
�R���O���R�R���_���x���T¨O�a�?³����a�f���O�a�����?�x���R���f´8���x���U���O���|�¦�����R�����¡�=�[�
���a���_���R���x�=���P�¦�=�2�����R�������R���?�x�_�����R�����U���x��±¥�x�R�f���R�������%�_�f���a��£
�������a���?�x�_�����R�8�_���U���|�x�2���������R�?�x���,���Ì���R�����=�����T¬U���R�,�����R�?�x�R�����
�x���i���R���«�x�%�%�?�x���¢���,�O�%�����«�x�¥�«�x���È�����_���x������¿?��À������?�x�=�fÊ�³����x�������%£
�R�_�a�|���R�w���x�����R�������R�2�=���?�x�=�_�2�R���O���R�R���_���x���2���O�%�8�����x���­�x�w�R����£
�=�����/�a�������R�?�x���E¬8���_�%³b�R��³A���_�a�P�¦�����#�T�����%�_�[�����_���a�������?�x�_�
���R�2�����R�����%���������_�R�����?�x�=�â�x���¡�R�����=�����T¬K�%�_�w���x�����R���2�������2�%�
���R���x�������������?�x�R���������?�x���²���O�%�$�%�%�,¨O�8��¨R�����x�R���©�¦���=�M�����x�������%�_�E�
¿Y�¢À��a���?�x���ØÉâ³����_�������«�2���R�,�������������?�x�=���%�����R�����µ�_���U���¡�x�w�R�¥£
�O�a�_�R���R���¸�����%�_�R�T�¦�����k���R�P�����a���_�?�x�=�Ã�����%�������§�P�������R�����?�����
�R�����=�����T�|Á*�������x�=�_�2³��=��Ä©�x�2�¥�x���a�����R�P���R�Ú�x�����x�������������?�x�=���%�
ã²ä�å?ä%æ�å?ä¥çUè_¬R�=�_���������*�¦�=�­�a�����������?�x�R�����R�f�%�O���x��±¥�x�R�w���_�|�����%�_�E¬
�x�8���x�����_�����a�B��À������?�x�=�wé¡�R�����������������������x���8�%�*�U�������«�x���«�Å���6�����R���x���
�=�¡���R��À_Á�Â$·f¨O�a�_���_�§����Ä���¬U���R��À������?�x�=�µê­�R�������������²�­���R���,�����
�%�_�w���=�_���x�_�?�x�=�_���
ë ì ~EÒ8í8~E��î ï)ð�ñ,ð Ð Ó¡ð Ð �*Õ¥ð�{¢� Ð Ó
}Eò|ð

ïôó Ð ��îÈÕ��Mï)ð$ñ,ð Ð Ó|ð Ð �&ó/õô~B�²ñ¡ò
Á*�����=�����6�����a���_�?�x�=�_�������������x�f�,�����w�R���O�a�_�R���R�¥�x�����µ´­�R�������R�¥£
�O�a�_�R���R�¥�x�����¦�=�����|�����O���¥�«ªU�¡�=���_�a�����µ���_�|�������a�_�?�x�=�P�%�*���R�¡�=��£
�����%�?�x���R����À��=���T�R���O���R�R���_���x���µ�������x�_�R���������,���w���R�,���������R�?�x���
�%�2���R�w�_���=�������k�%�_�[�%���R�R���,¨O�w�������%�=���B¬8�=���_�a���©�����¢¨O�w���¥£
���%�=���B¬R¨R�_���R���O���«�x�©�R���²³G�x���R���R�����=�����o�x�,�����=���������%�_�,�O�=���?�x¨��x�
Ù�ö&÷�øxù©úKû�ü?ý¢úKþ�ùµù ÿ ��� û�ü������
	��
�$þ��¦øxû��Rþ�������ø�����������û�ÿ�����þ�� øxû��

� ü�þ��������! �"$#�%�&�%�'�(*)�+

,�-�.*/�0�0�1�2$354�67.98;:�<=0�>5?�@BADC;3E3=FEG�HJIK35:�0�-�3LG*:�2�.�3!G�H�MJN�OQPE.*6�2$F5OR.�3TSU.�OVP!FW:�0�-VC;-�/�<X2Y:�0�/�:9F5-�0�Z\[]G�N
>5?�?�^



�������a�_�?�x�=�P���O�a���B�
����� ���	��

��������
���
�����
�������
��
 _å"!Rá$#2ä�%¦ä$#iá^çUá'&�(�á'&�)%ßÅá+*
´8³��w���U�������?�x�=�_�µ���O�%���w�T�����R�T�U�����w�_���U���_�R���R�����«�i���R�T�=�O���?£
���?�x�=�¢�����%�����a���T�=���x�R�w���U���2�x�¡�R�����¢¨��f���R�©�=���_�a�©¶Y���x���P�%���«�x���
��»��%�%��£Y�­�®�����?£Y P�?�x�����=��»G�* e�R���O���R�R���_�a�R½¥��´8�R�¡�R���O���R�R���_�a�
�¦�=�������2�%�w�����R���2�R�O�������O�a�����?�x���R�|���_���w���O�%�2�����R�����|�����x�_�a���%���
�����%�%�����w¨O�¥�®�����2���R���µ�����2�R�����T�x�w���_¨R�������R�����2���U�������?�x�=�_���
,�%�-�å?ä%æ�á.#iá^çUá'&�(�á'&�)%ßxá/*
0­�a�O���R�_���R�¥�x�����%�������x���µ�����x���2¨O���%�%�_�������G�§�«�x�¡�x�����¤�����=�_���2�%�
���������%�����GÀ��R���w�����������=�2�_�a�O���R�_���R�¥�x���|���������x�������U�����¡���=���_�R����£
�?�x���µ¨O�2�R�¥���������w�R���?�«�*���R�������=���������x�������?�x���w�¦�=�����_�����������x�­�x���R�
�x���R���a�����������x�����,¨��¡�R�������x���R�����=���R�_���%�?�x���E�8À����������=�8�_���U���_�R����£
�¥�x�����%���$�%�¦�����2�¦�R�����_���K�¥�������?�«ªU���µ���R�|���¥�¦���������2�����%�* P�?�x���¥£Y�8�¦�����?£
»��%���¸¶¦ w�i»­½2�%�_�¢ ��?�x���¥£Y�­�¦���a�?£? ��?�x���P¶¦ w�* Ø½��_�a�O���R�_���R�¥�x�����
À��x�_�����,�����w���«ÖE���������2�U�����,�=���x�R���2�%���w���a�?�x�_�¡�x�����?�x�_�%�x�,�������?£
���=�Ú�x�������?�x�������=���8���_�2�«�«�¦���?�x�������G�¡�R���������%�T¬E�����R�¥�R�������x±%���?�x���
�x�2���������x�����f���,���R���_���§�§�a�����R�_���%�?�x���P�x�|�%���������?�x�R�w���R�����������a���
�=���x�R�­�¦�=�$���U���²�����������=�­�x���%�%�?�x���E��Û8�x�������?�x�=�w���Ì�����������%�����_���U����£
�R���_�a�P³��=���x�����������x�2�x�f���R�,���a�������2���­�����_���x���x�?�����«��±����[���������%���
�x���%�%�?�x���E¬8���,�%�_�=���_���,�U�����w�=���x�R�w�����������f�x�¢���_�µ�������µ���������%���
�x���%�%�?�x���E�
1	-�&�%¦å2-43�#iá?çOá'&�(�á'&�)%ßxá+*
�������������%�2�R���O���R�_�a�_�����x�,�x���������_�R�����¸³8�R�����x���x�,�_�=�©Ä��R�%³8�
³8���x���¡�x�R�������_�a�?�x���,³��«�«�E¨O�������a���_���a�©�R�����*�R���?�«�E��������¶¦�_���a���x���R��½
�x�R�������_���?�x�=�f�U�����a�������x�������E��À��R���w�_���U���_�R���R�¥�x�������?�x����¨U���%���R���
���²���=�_���x�?�x���U����¨R�����R�¥�P�x�R�������R���?�x���R�����U���2���_���=����¨O���Y³�������������£
�������8�O�%���_���������������R�?�x���[¨O�%�������R�O�=�����R�T�=�_���a�����µ���������������x�
�����������
5²á/*6-�!Rå�)�á.#2á?çUá7&8(�á7&8)�ßxá+*
»��������R�����8�R���O���R�_�a�_�¥�x�a��¶¦�������a�?�x�����*�%���«�x���,�������_�����R�����U�U��±%�%���_��½
�������R�w³8�_�a�Ã�=�O�������?�x�=�_���|�_���w�R�¥�����Ã¨U���%���R���f���=���f���������x�����
�R�����?�x�%�����������=�_���a�¡�U���8¨O���a�����|�����U���R�������B�GÂo�R�%�����x���2���K�«�x�¡�x�?£
�x�R�¡�������=�_���a�����x�T���R�������������=���x�_�¥�x�R�R�Ú�¦�R�R���?�x���U���K�R���x����¬U³G�x�R�R��³
�?�x������¬K�%�_�µ�_�����?�x�����²�������x���������|¶¦³8�_���µ�����U���¡�x�R�©�x�8���R�_�O�=�������E�«½
���9� �;:<
=���	�<>�?@�A�B��
���
����C
������EDBF�>��<:
´8�_�G(�H4&Oä�I|ßJ)C(�á^çUá'&�(�á'&�)'HKæ�åYä¥çUè�K�#L#;M	NE�x���­�U�����?�����«�x�������R�������E¬
���x�����������E¬����������«�x�w�������R�E¬�³8�_�a���T���R�T�R���_���,�%�����R�T�=�����R��������£
�����������|���R�©�a�����R�_���%�?�x���¢���U���|�������R�������¢�_�R�?�x�_�����R�©�a�������R�?�x���
���G���w�x�R�������_���?�x�=�B¬²�%�_�����_�|���R�����2���a�_�������a���¡���R�¡�R���O�a�_�R���R�¥�x���
¨O���Y³������w���R���x�R�������_���?�x�=�_�2�x���¡�R���O�%�¡�x�������a���_�?�x�=�P�%�����_�|�R����£
�����%�T�
¹B�x�=�_���,Ç��«�«�x�R�������������|���?�x�����x�¡�R�����=���������������R�?�x�����������a�|���R�

���R�O0.0LP/���������������a�Ã�¦����� ���_�f�����%������´8�_�����������R�?�x���)�������a�
���R��³8�,���R�T�x�_�������R���?�x���R�����������R�������������=���x�U���������_�w�����%�����������
QSR�TVUXW@YVW@Z[WV\ �R¿?�T���R��0.0LP¡¬O���R�2���O�a�����?�x�������8���R�2�����«�
���©���Í���_�=�f�R���O���R�_�����Í���R�f���������R�?�x���)�%�����R�f���U�������?�x�=�!�%�
���R�P�R�%���Í�������R�P���R���=�!´8�R�P�=���x�Í�_�a�O���R�_���R�¥�x�������O�%�T�����x�����
�x�f�����x�2�_���=�����%�������%���,�%���������_���O�%���©�R���O���R�_�a�_�¥�x�a���T´8���x�¡�R�¥£
�O���R�R���_�a�Ã���������x�����w���U�������¸���U�������?�x�=�M�_�=�T�����a���_�����_���?�«�2�x���
�����R�����,�=���x�R���|�O�����,¨O�a���f�����%�%�����E�µ¹_���2���R�%�����x��¬����_���x�R�������_�¥£
�?�x���V]�^@_�`O]ba W ]�cµ�%���R�_�=�,���������R���w�_���?�«�i���_�w�=���x�_�w�%� U �x�
�x���%�_�a�T�x�����;]ba¡¨������R���x�_�������R���?�x�=�ed�f�g4hO]ba	i U ���R�T���R�2�=���x�R� Y
�x�­�x�X���R���T�x�����j]�c�¨��,���_�2�x�R�������_���?�x�=�ed�f�g4hO]�c�i Y �
´*���R�,�O�%���P�_�a�O���R�_���R�¥�x���w�������=���x�¢¨O�w���a���%�����[¨��f�¥�U���R��£

Execution Trace Dynamic Dependency Graph

load r0,A load r1,B load r2,C load r3,D

r4<−r0+r1 r5<−r2+r3

r6<−r4+r5

store r6,S

load r0,A
load r1,B
r4 <− r0 + r1
load r2,C
load r3,D
r5 <− r2 + r3
r6 <− r4 + r5
store r6,S
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Execution Trace Dynamic Dependency Graph

load r0,A load r1,B

r4<−r0+r1

r6<−r4+r5

store r6,S

load r0,A
load r1,B
r4 <− r0 + r1
load r0,C
load r1,D
r5 <− r0 + r1
r6 <− r4 + r5
store r6,S load r0,C load r1,D

r5<−r0+r1
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Analyzed Program Dynamic Dependency Graph

load r0,A read r1
          load r0,A
          read r1
          cmp r1,0
          ble subtract
          r2 <− r0 + r1
          br continue
subtract: r2 <− r0 − r1
continue: store r2,S

load r3,C
load r4,D
r5 <− r3 + r4

r2<−r0−r1

store r2,S

load r3,C load r4,D

r5<−r3+r4

[r1<=0]
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Execution Trace Dynamic Dependency Graph

load r0,A load r1,B

load r2,C load r3,D

r4<−r0+r1 r5<−r2+r3

r6<−r4+r5

store r6,S

load r0,A
load r1,B
r4 <− r0 + r1
load r2,C
load r3,D
r5 <− r2 + r3
r6 <− r4 + r5
store r6,S

FU #1 FU #2
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